15P/203/4(i)
No. of Questions : 150
Uyl et UEAT : 150

1
Time : 25 Hours Full Marks : 450

qH 2% gue quTiE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted Jor each incorrect
answer. Zero mark will be awarded for each unattempted
question.
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(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.
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The solution of simultaneous equation x + v s and y+ = >is:

g
(1) x=1y=l \/0)/x=l y=1 'v\’/%” :\ "4/”1
; 2 y % g
(B3 x=1,y= 4) x=1,y=-1 % xjé/
A
If1, o, o’,....., @' are n® roots of unity, then (1-0) (1 - ©?) (I-- &) W//Q‘:,’/ :
....... (1- ©"') is equal to : o \5
(1) n 2) 1 3) O (4).n? s

16 For g1 .
The value of 7 log T 5 log e 3 log 30 18 equal to :

(1) Unity (2) Zero (3) Log 2 (4) 0.2

The n term of the series
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(1) 5n2 +3 (2) Sn-3
20
(8) 20(5n+3) (4) Sn+3

The number of subsets of a set containing n distinct object is :

(1), "C+"C, +"C, + "C .. HC

n

(3 221 (4) 2"+1






































































































